



## PTO GIFTS PROGRAM

### **Requests for PTO Funding 2021-2022**

---

Any teacher, parent, or student who has a request for funds from the PTO must fill out this form. Please answer these questions as thoroughly as possible, providing supporting detail and information.

Please email the completed form to the PTO President-Elect ([president\\_elect@district29pto.org](mailto:president_elect@district29pto.org)) by **Monday, November 15, 2021**.

---

**Name:**

**Role (Teacher/Parent/Community Member):**

**Benefitting School:**

**1. Define your request:**

**2. Amount requested:**

**3. Can this project be funded in stages? If yes, what timetable is involved? If no, please explain your due date for funds.**

**4. Has this request been reviewed by the school administration? What was their response as to its merit and priority?**



**10. Have you exhausted all other funding options before coming to the PTO Gifts Program?**

Part	Qty	Unit price	Total
<a href="#">2" Swivel Caster</a>	2	4.29	8.58
<a href="#">2 x 4 x 8' Premium Construction/Framing Lumber</a>	8	3.66	29.28
<a href="#">2 x 3 x 8' Stud or Better Construction/Framing Lumber</a>	6	2.98	17.88
<a href="#">1 x 2 x 8' Furring Strip</a>	8	1.78	14.24
<a href="#">2 x 8 x 6' Construction/Framing Lumber</a>	1	6.89	6.89
<a href="#">Door hinges</a>	4	2.99	11.96
<a href="#">Gorilla Wood Glue</a>	1	5.84	5.84
<a href="#">#8 x 3" Screws</a>	2	16.99	33.98
<a href="#">Padlock Hasp</a>	2	9.99	19.98
<a href="#">1/4 x 4 x 8 BCX Sanded Plywood</a>	1	25.12	25.12
<a href="#">#6 x 1.25" Screws</a>	3	1.99	5.97
<a href="#">1/8 x 4 x 8 Hardboard Panel</a>	2	10.53	21.06
<a href="#">2" Fixed Plate Caster</a>	2	1.99	3.98
<a href="#">#6 x 1 5/8" Screws</a>	2	1.99	3.98
		<b>Total for one assembly</b>	208.74
		<b>Total for two assemblies</b>	417.48

Part	Qty	Unit Price	Total
<a href="#">2" Swivel Caster</a>	2	4.78	9.56
<a href="#">2 x 4 x 8' Premium Construction/Framing Lumber</a>	8	3.48	27.84
<a href="#">2 x 3 x 8' Stud or Better Construction/Framing Lumber</a>	6	2.98	17.88
<a href="#">1 x 2 x 8' Furring Strip</a>	8	1.78	14.24
<a href="#">2 x 8 x 8' Construction/Framing Lumber</a>	1	6.89	6.89
<a href="#">Door hinges</a>	4	1.49	5.96
<a href="#">Titebond Wood Glue</a>	1	7.98	7.98
<a href="#">#8 x 3" Screws</a>	1	47.14	47.14
<a href="#">Padlock Hasp</a>	2	10.68	21.36
<a href="#">1/4 x 4 x 8 BCX Sanded Plywood</a>	1	24.92	24.92
<a href="#">#6 x 1.25" Screws</a>	1	24.98	24.98
<a href="#">1/8 x 4 x 8 Hardboard Panel</a>	2	15.98	31.96
<a href="#">2" Fixed Plate Caster</a>	2	4.98	9.96
<a href="#">#6 x 1 5/8" Screws</a>	1	58.92	58.92
		Total for one	309.59
		Total for two	619.18